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I ’nmon: liability for n%m nawn: (-1 N1”wn are analyzed in subsequent N"10; we will leave those m”wn until then)
a  If he stole and swore innocence — he must pay him — and only him back (wherever he may be); but he may pay 772 n5w
i Observation: only liable to follow 5m1 and pay him back if he swore — (else, he can wait for Yt to come to him)
ii  Question: whose opinion does this follow?
1 Neither: " nor v": who disagree in case where 1511 doesn’t remember from which of 5 he stole
(a) v™: he leaves the amount between them and leaves — (we assume), even if he swears
(b) y™:must pay that amount to each of them — (we assume) — even if he doesn’t swear, still liable to all 5
(i) Answer: it is ™ — only states his ruling (case of 5 potential w’%t) if he swore as per v. 2
1. And: v extends Dawn Mpn to such a case, where 1913 doesn’t know from whom he stole
2. y”7. mpn only applies when 151 can identify 51 and he will get paid
(if) Rejection: R"aw" limited the dispute between y™/0" to N1, not npn
1. Explanation: if someone bought from 1 of 5, both agree that he leaves purchase price between them
2. Therefore: their dispute must be without an oath; else no reason to differentiate between nt/npn
(iii) Additional rejection: story of Tn® Ton who was unsure from which of 2 he bought:
1. v told him to leave it between them
2. 77 told him he must pay both
a. And: since he was a 7on, he certainly didn’t lie under oath
i.  Possibility: he became a Ton after the oath
ii.  Rejected: "nR Ton” in 9" refers to X121 12 NI’ "1 or RYYR 72 AT’ "1 — always D*pon
(iv) Rather: our mwn follows v" — and he agrees that if the 1511 took a (false) oath, he must follow the 5
to pay him — as per v. 2
1. ¥ he is fined (to follow and pay him back) even if he didn’t take an oath
2. Challenge to v”r. since the case can’t begin unless the 151 admitted his guilt — why is a nyaw
necessary — 0™ himself ruled that if a 1911 tells two men that he certainly stole from one of them
but is unsure which — he must pay each the full amount — since he admitted guilt
(v) Rather (x27): mwn follows both; it is unique since he admitted guilt: it is as if the Y said “you hold it
for me”,
1. If: he took the oath and needs 1723 for 7pw N»aw, he gets no n192 until he gets it to Hmy;
2. If- he didn’t take an oath, it is as a NTpa in the 1913's hands until the 911 comes to claim it
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